
The program is very easy to use: just enter stepmat( your_matrix ) and press enter. 
If  your_matrix is a square matrix the programs calculates the inverse otherwise it 
calculates the reduced row echelon form. 
If matrix dimension isn't (n,n) or (n,n+1) it returns an error message. 
The program shows all steps and stores them in  variables that, if you want, you can 
see in a second time. At the end of  the calculus the programs check the work using 
rref( your_matrix ) or your_matrix ^-1 to be sure that the work is exact. 
The program works also with implicit variables but it's a little slower. 
 
Example:  
Calculate the reduced echelon form of this matrix: 
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Press Enter to save steps 
 
This program has been already used many times without problems. If you finds any 
bug first assure you to have selected the English language in the mode and not to 
have translated the code with any program. If the problem persists please let me 
know. 
For a better and faster answer please enclose some screenshot of the bug: entered 
inputs, expected outputs, error messages, erroneous code line, mode stetting… it will 
help me very much! 
My address is paolosilingardi@interfree.it . Thank  you very much for your help! 
 

Paolo Silingardi 
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